Appendix Table 1: Allele sizes and counts (n) for six microsatellite loci for 352 sampled Quercus lobata adults at Figueroa Creek, Santa Ynez Valley, California, with effective number of alleles (Ae), probability of genetic identity (PI), and allelic sample sizes (N) for each locus. Alleles marked with ‘*’ or ‘†’ were present in canopy-patch and open-patch recruits, respectively, but not in adults; these alleles are given their appearance count in the recruit datasets. [ As an on-line supplement ]

	MSQ4
	QpZAG1/5
	QpZAG36
	QpZAG9
	QrZAG11
	QrZAG20

	Allele
	n
	Allele
	n
	Allele
	n
	Allele
	n
	Allele
	n
	Allele
	n

	194
	5
	156
	5
	196
	6
	241
	1
	252
	1
	157
	5

	200
	1
	  158*
	1
	198
	6
	243
	1
	 254*†
	4
	161
	1

	202
	1
	160
	1
	204
	2
	245
	8
	256
	17
	163
	404

	204
	176
	162
	237
	206
	387
	247
	5
	258
	192
	165
	58

	206
	137
	164
	289
	208
	40
	249
	3
	260
	33
	167
	13

	208
	62
	166
	23
	210
	139
	251
	31
	262
	66
	169
	3

	210
	5
	168
	90
	212
	117
	253
	39
	264
	11
	171
	66

	212
	36
	170
	30
	214
	3
	255
	4
	266
	10
	173
	105

	214
	24
	172
	10
	216
	2
	257
	27
	268
	4
	175
	26

	216
	37
	174
	12
	---
	---
	259
	31
	270
	17
	177
	3

	218
	33
	180
	3
	
	
	261
	38
	272
	37
	179
	17

	220
	68
	---
	---
	
	
	263
	118
	276*
	2
	181
	2

	222
	42
	
	
	
	
	265
	188
	280*
	1
	183
	1

	224
	11
	
	
	
	
	267
	70
	286*
	1
	 185*
	3

	226
	6
	
	
	
	
	269
	60
	---
	---
	187*
	1

	228
	8
	
	
	
	
	271
	33
	
	
	189*†
	4


Appendix Table 1: (continued)

	MSQ4
	QpZAG1/5
	QpZAG36
	QpZAG9
	QrZAG11
	QrZAG20

	Allele
	n
	Allele
	n
	Allele
	n
	Allele
	n
	Allele
	n
	Allele
	n

	230
	2
	
	
	
	
	273
	10
	
	
	191*
	1

	232
	16
	
	
	
	
	275
	3
	
	
	
	

	234
	21
	
	
	
	
	277
	3
	
	
	
	

	236
	5
	
	
	
	
	281
	1
	
	
	
	

	238
	3
	
	
	
	
	283
	2
	
	
	
	

	240
	1
	
	
	
	
	285
	10
	
	
	
	

	 244*
	2
	
	
	
	
	---
	---
	
	
	
	

	250
	1
	
	
	
	
	
	
	
	
	
	

	---
	---
	
	
	
	
	
	
	
	
	
	

	Ae = 7.59
	Ae = 3.29
	Ae = 2.67
	Ae = 7.26
	Ae = 3.11
	Ae = 2.78

	PI = 0.0292
	PI = 0.1429
	PI = 0.1856
	PI = 0.0312
	PI = 0.1464
	PI = 0.1560

	N = 704
	N = 701
	N = 702
	N = 686
	N = 699
	N = 712


